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ALL ANSWERS MUST BE GIVEN ON THE ANSWER SHEET
BY CROSSING THE CORRESPONDING LETTER
ENGLISH M.C.Q'S

Number of English M.C. Questions: 43

Questions on Page Numbers 1 to 10

Vocabulary and Grammar

Q 1-5 Fill in the blanks with suitable
words given at the right side of the text

This view of the nature of discovery has, I

Time Allowed: 50 Minutes

MNegative Marking: Yes

suspect, deep roots in thenature of scientific Q
community. One of the few historical A) between
elements recurrent in the textbooks Q1)____ B) whom
which the prospect scientist learns his field - @) m
is the atifibution of particular natural D) those
phenomena to the historical personages
Q2)__first discovered them. As a result of Q
this and other aspects of their training, A) that
discovery becomes for many scientists an E}-'Iwhé
important goal. To make a dmwvary 15 to . C) which
achieve one of the closest approximations to D) 30
a property right that the scientific career et
affords. Professional prestige is Q3) Q3
closely associated with these acquisitions. i’
Small wonder, then, that acrimonious A) suddenly
disputes about priority and independence in eysuccly
discovery have often marred the normally C) rather
placid tenor of scientific commumication. D) often
Even less wonder how many historians of Q4
science have seen the individual discovery
as an appropriate unit with which to measure A) despite
scientific progress and have devoted time B) in fact
and skill to determining what man made C) therefore
discovery at what point in time, If the study D) however
of discovery has a surprise to offer, it is only
that, Q4)___ the immense energy and Q5
ingenuity exceeded upon it, Q%)__ A) either
polemic or painstaking, scholarship has B) sometimes
often succeeded in pinpointing the time and C) neither
place at which a given discovery could D) although
properly be said to have been made.

(Go On To The Next Page)
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Q 6-15 Choose the best option (which are given on page 3)

Certain problems in psychological researchmquiﬁe ﬂ:g erin r to Q6) his career and
scientific interests against the interest ofthis Q7 ) subjects. When such occasions arise the
experimenter’s stated objective frequently is to choose the best possible joblwith the least
possible harm to his subjects. The experimenter seldom Q8) in

indebtedness to the subject for his services, pet] s because the detachment which his functions

require prevents appreciation of the subject as an indivi

Yet a debt does exist, even when the subject’s reamnﬁ};‘trohmenug includes course credit or
monetary gain. Ofien‘a subject participates unwillingly in order to satisfy a course requirement.
These requirements are of a Q9) merit cthically, and do not alter the experimenter’s
responsibility 16'the subject. \

Most experimental conditions do not cause the subjécts,pain or indignity, and are sufficiently
interesting or challenging to present no problem of an ethical nature to the experimenter. But
where the expenmmta.lmndrﬁons Qlﬂ}_ the subject to loss of dignity, or offer him nothing
of value, then the experimenter is obliged to consider the reasons why the subject volunteered
< and to reward himaccordingly.

The subjeet’s public motives for volunteering include Iming an enjoyable or stimulating
experience, acquiring knowledge, doing the experimenter a favor which may someday be

Ql1) » and making a confribution to science. Thése motives can be taken into account
rather easily by the experimenter who is willing to spend a few minutes with the subject
aficrwards to thank him forhis participation, answer his questions, reassure him that he did well,
and chat'with him a bit. Most.volunteers also have less Q12) __, but equally Q13) A
motives. A'subject may be seeking an opportunity to have contact with. be noticed by, and
perhaps confide in & person with psyehological training. The dependent attitude of most subjects
towards the experimenter is an artifact of the experimental situation as well as an expression of

some subject’s personal need systems at the time they volunteer.

The dependent, obedient attitude assumed by most subjects in the experimental setting is
Q14)___, to that situation. The “game” is defined by the experimenter and he makes the rules.
By volunteering, the subject agrees Q185) to assume a posture of trust and obedience. While
the experimental conditions leave him exposed, the subject has the right to assume that his
security and self-esteem will be protected.

(Go on To The Next Page)
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Q10

A) organize
B) regulate
C) balance
D) develop

C) subject
D) expose

A
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A) appropriate
B) justified
C) associated
D) concluded

Q15

A) enthusiastically
B) explicitly

C) subtly

D) implicitly
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Q 16-25 Select the best option
Q16 In August my parents will be married fo

A) will be married for twenty-five yeérs
B) shall have been married for
C) will have been married for 1
D) will be married for twenty five yea

Q17 The Diary of Anne

Q20 If he would have read “The White Birds,” he might have liked William Butler Yeats's
poetry.

A) would have read
B) could have read
C) would of read
D) had read

www.sheir.org
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ound of applause for the perfectly timed

A) audience received a well-deserved
B) audience gave a well deserved

C) audience did receive a well deserved
D) audience gave a well-deserved

Q22 Looking directly at me, my M

A) Mother said, * Thes
B) Mother said-

Q25 Last night the weather forecaster annoi
had in the past decade.

B) this was the most rainy season the
C) this is noted as the most rainy season the
D) this is the rainiest season the

Q 26-35 Select the best option.

Q26 infamy

A) honor

B) bad reputation
C) words of praise
D) opponent

www.sheir.org
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A) island like
B) harshness
C) accessories
D) omamentsd

Q32 corpulence

A) no longer existing
B) obesity
C) omission of words
D) describe
Q33 bigoted
A) intolerant
B) selfish

C) generous
D) ignorant

(GoOnTo ng |§l=_ gg_g%ge)
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Q34 execrate

A) retort

B} boredom

C) something new
D) curse

Q35 annihilare

A) causing plague
B) use of force
C) destroy

D) profitable

For Q36 and Q37 consider the following information:

A scientific study compared two matched groups 6f college women. The women in both groups
were presented with information about thnbmeﬁf& of a healthy diet and regular exercise. The
women in one group were pm-::d up with one anothe: andmcpmged to work as two-person
teams to help each other stick with the mmmmeudad healthy regimen of smart eating and
regular vigorous exercise. The women in the other group were encouraged to use the same
recommended regimen, but they were also advised to work at it individually, rather than with a
partner or teammate, Afier 50 days the physical health and the well-being of all the women in
both gruups were evaluatﬁd On m':ragethe wameén in thnﬁrstgmnp{wnh teammates) showed a
26 point improvement in measures of cardiopulmonary capacity, body strength, body fat
reduction, and sense of well-being. On average the women in the other group (encouraged to

work as individuals) showed a 17 point | /ement on. ihmme measures. Using statistical
analyses the researchets determined that the probability that a difference of this size had occurred
by chance was less than one in 1000.- '

Q36 1f true, these research findings would tend to support which of the following assertions?

A) A college woman cannot achieve optimal health functioning without a teammate.

B) Universities should require all students !.ng in campus residence halls to participate in
a health regime of smart eating and regular vigorous exercise.

C) A healthy diet'will cause one to have better mental health and physical strength.

D) This research study was funded by a corporation that makes exercise apparel.

Q37 Consider the ¢claim, "Wcrldng"with a feammate or pariners on a health regimen is better than
working individually." Which of the following additional pieces of information would not
weaken that claim?

A) Most of the women in the group that was encouraged to work individually actually
worked with friends and partners who were not part of the study.

B) Most of the pairings and teams created in the first group (with teammates) fell apart
afier a few days and the women in that group actually worked individually.

C) There was something about the women in the first group (with teammates) that the
researchers overlooked, thus invalidating the intended matching of the two groups.

D) Men are more likely to work alone, so any recommendation that men find a teammate or
partner to support them in sticking with the regimen will be ignored.

Q38 Three graduate school friends, Anna, Barbara, and Carol, graduated successfully. Being in

the same program, the three often worked as a team on group assignments. Anna earned the
special recognition of "pass with distinction" when she graduated. Carol and Barbara, although

(Go On To THENFERY Blee)
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receiving their degrees, did not earn this special honor. A fourth student in the same graduate
program, Deirdre, often said that the graduate program was poorly designed and not difficult at
all, Deirdre did not graduate, instead she'was advised by the faculty to withdraw from the

program because her work was below; am@labie mﬂmﬂa Given thissinformation only, it
follows that

A) Carol and Barbara deserved to rec#ive "pass with distinotion" like Anna.

B) Barbara's work in the program was superior to Carol's.

C) Deirdre's work in the program was below the quality of Carol's work.

D) Anna, being successful, will decide to enroll in another advanced graduate program

Q39 "I've heard many reasons why ournation should reduee its reliance on' petroleum vehicle
fuels. One is th&trolymgonnnpormc!oil makes our economy dependent on the pohtmiwh:mu
of foreign rulers. Another is that other energy sources, like the possibility of hydrogen based
fuels, are Jess harmful to the environment. And a third is that petroleum is not a renewable
resourcé 50 when we've used it all up, it will be gone! But I don't think we're likely to usc it all
up for at least another fifty years. And by then we'll have invented new and better fuels and more
fuel-cfficient vehicles too. So that argument‘dmm‘t worry me. And I don't really believe the stuff
.about kow foreign leaders can force our nation to change its policies simply by decreasing their
0il production. Oil companies like Exxon have made record pmﬁu preclselym those times when
the supply of foreign il was reduced. I don't see the b].gﬂil -ompanies being very interested in
policy change when the money is rolling in. And for another, our nation has demonstrated that it
is willing to. wage war rather than to permit foreign leaders to push us around. So this whole
thing about how we have to reduce our reliance on petroleum based gasoline, diesel, and jet fuel
is bogus." The speaker’s reasoning is best evaluated as .

A) It shows the arguments for redumngpmomwhicle fuels are weak
B) The speaker is very clear about what he believes and why he believes it.
C). The speaker probably owns stock in Exxon or some other oil company.
D) The speaker ignored the environmental argument entirely.

Q40 Using thc]:hone at her desk, Sylvia in Corporate Sales consistently generates a very steady
$1500 per hour in gross :ﬂvmuﬁ for her firm. After all of her firm's costs have been subtracted,
Sylvia's sales amount to $100 in bottom line (net) profits every 15 minutes. At 10:00 a.m. one
day the desk phone Sylvia uses to make her sales calls breaks. Without the phone Sylvia cannot
make any sales. Assume that Sylvia's regular schedule is to begin making sales calls at 8:00 a.m.
Assume she works the phone for four hours, takes a one hour lunch exactly at noon, and then
returns promptly to her desk for four more hours of afternoon sales. Sylvia loves her work and
the broken phone is keeping her from it. If necessary she will try to repair the phone herself.
Which of the following options would be in the best interest of Sylvia's firm to remedy the
broken phone problem?

A) Use Ed's Phone Repair Shop down the street. Ed can replace Sylvia's phone by
10:30 a.m. Ed will charge the firm $500.

B) Assign Sylvia to a different project until her phone can be replaced with one from
the firm's current inventory. Replacing the phone is handied by the night shift.

C) Authorize Sylvia to buy a new phone during her lunch hour for $75 knowing she
can plug it in and have it working within a few minutes after she gets back to
her desk at 1:00 p.m.

D) Ask Sylvia to try to repair her phone herself. She will probably complete the
repair by 2:00 p.m.; or maybe later.

(Go On To THMM RS PGge)
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Reading Comprehension
Q 41-45 Carefully read the following passage&nﬂ mﬂ‘tl‘thnammnpanymg questions

Today, the educational value of appenlm.g to the eye as well as to the ear has been fully
recognized, and the lack of suitable materials which has in the past been a handicap to visual
education is bemg made good. The exhihmon is qne mpnrtm medium fbr wsual odur:anon
the purcIy practical—such as those sponsvomii t&' sbmﬁ anﬂ:.nﬁucs fm‘ hﬂﬂlh mdhnnsacm& "
demonstrations—to colleetions,of artistic and historical interest like those circulated by thc
Victoria and Albert/Museum. A natural focus for'this particular form of education through
the eye is the local museum. Museums and galleries are indeed, playing an mmmgly
important part in the educational life of their localities; and possibly their greatest
contribution can be made in the field anﬂuh education. If they are valuable as a base for the
display of material supplied from outside sources, they have a more mpﬁmt function in
fostering local distinctions and tmdihons of all kinds This they can do by their permanent
collections, by special exhibitions shuwn on 'ﬂ:uiir own premises, or by traveling exhibitions
circulated to othér centers in the locali ' example, to colleges of further education or to
community centers. Anm&anﬂhgvalneaftht eufhibninnmvﬂmd is that it does not provide
instruction only, but by the display of works of craftsmanship and art it gives training in
appreciation, a sense of quality and individual charmger

Another most important medium for visual education is the cine-film, and at the present time
ﬂl: suppljr nf specially produced adwaﬁonnl ﬁlms is being rmid.ly increased. The film, like
5 m, s well adapted for the demc ofjmhm] activities and skills of all
' ki:ldﬂ and ﬂ:lI ﬂ:b ﬁammumcauun of eulhmlmﬁnﬂvm ‘But it has a further distinctive
ricular importance in udueaﬁnn. anto,fhe exceptionally strong emotional
lmpact of thﬁ cl.l:iama, films. dealing with controversial topics—as, for example, the whole
range of modem social questions—can ‘be relied upon to provoke discussion and arouse
interest in current problems. There are now'a number of sources for educational films. In
addition to the well-known commercial film libraries, there is the Central Film Library, where
officially sponsored films are available; and the National Film Library run by the British
Film Institute, with its Iargehswnnal collection of films of all kinds and all periods,

Mention should also be made of the humbler filmstrip, which consists of a series of pictures
printed on lengths of cine-film and projected like miniature lantern slides. Being cheap and
easily handled, they are an ideal means for illustrating informal demonstrations and lectures.
These are already obtainable for a wide range of subjects from several commercial producers,
and are likely to be supplied in increasing number from public sources. For those who still
prefer the ordinary lantern slide, the largest and most accessible public collection is that of the
Victoria and Albert Museum.

Q41 Give the meaning of nanwral focus
A) artistic landscapes
B) convenient centers
C) social gatherings
D) ordinary surroundings

(Go On To MY RSP ge)
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Q42 Distinguish between "instruction" and "training in appreciation”.

A) "Instruction” refers to the imparting of knowledge, information, facts, while "training
in appreciation” denotes teaching a sense of values and an ability to discriminate.
Exhibitions provide instruction/in that they impart knowledge, convey information,
demonstrate facts and activities and skills. They also provide training in appreciation
in that they teach the capacity to judge values, 10 distinguish between what is good
and what is bad in art and craft, to appreciate good guality and fine character

B) "Training in appreciation” refers to the imparting of knowledge, iuﬁ:mmon, facts,
while "instruction” denotes teaching a sense of values and an ability to

C) "Instruction” refers to the creation of material and documents, while “training in
appreciation" overlooking faults and mhlmhhg ideas

D} "Instruction* refers to performance and appreciation, whlﬁ“trmmngm'
denotes ¢riticism and feedback

43 What advantage f&ﬂdﬁ%ﬁnﬂpﬂmm has the film over the exhibition? i

A) The exhibition is more potent than the film because, it captures and retains the interest
inaway thata static prmmmnotﬂc

B)The film is more potent than the exhibiti
with a strong emetional farce '

C) The eﬂﬂbi‘hnnismummemﬂnntheﬂmmu captures and retains the
lmmm\amﬁnamcmmamntda

D) The ﬁlmismepammmeexhﬁmbmnlmksmmvmmd argument

Q44 Why is the adjeeﬁve "humbler" applied to the ﬁlmﬁtﬂp‘?
A)The filmstrip is humbler than the film because it eﬁnsistsﬁf‘a series of static pictures
whersas the film hsa wpﬁnuous 1
B) The filmstrip in humbler than the ﬁim ‘becduse includes the narrative power and
emotional force of the film
C)The filmstrip is also humbler than the film becausge it is very expensive and elaborate
D)The filmstrip is also humbler ﬂ:lm the film bectuse consists of movement and

ion"

on, for its. movemnent and its action endow it

emotions:
Q45 Explain the difference between "commeretal producers” and "public sources" of
filmstrip,
A) "Commercial ers" refers (o companies who produce film strips for non-profit,

“public sources” refers to private companies who produce film-strips for profit

B) "Commercial producers” are in the business because they are public bodies and

“public sources” do not sponser or produce films

C) "Commercial producers" make films for public exhibition free of charge,* public
sources” make films to charge exorbitant expenses

D) "Commercial producers" refers to private companies who produce film-strips for
profit; "public sources" denotes public bodies who produce films on a non-profit-
making basis

(Stop. Do Not Turn This Page. Wait for the invlgilamm,g ﬁg#! E;rg



A) . z=-§ B) z=—%

47. Point out the fiaw in the following arighimetie evolutic

4=5 (1)
4—45=5-45

0.5 =05
(~0.5)* = (0.5)°

(.25 = 0.25

he original emount when rounded off to
256 D) 205
32, afhm'u'umtionhy?.ﬂ% The usual method

4 mesn of the data-set given by {5,2,9,4,90,0,5,3,4,5}.

A) 3.700 C) 4.625 D) 5,500

53. A young mother plans U ﬁnamwmw]hegmmm
from now, and at the end © annual period consecutively for 2 years (from now), in order to
ensurs that she moeets the e harhbgramlymhoo]lng, Intminemedntth&mteoflﬁ%
per vear compounded semi-an thtwﬂlthetuhlmmbt,ﬂm.&omm,medhteht
after her last payment

A)  Rs 433300 B Razssnss C)  Rs. 123200 D)  Rs 2500.00

54. What amount should be invested today at Mﬁmua:ea;mpwmadmualhrmwdarwhmum
to Rs: 10000.00 in 2 years?

A)  Rs. 877193  B) Rs. 7694.67 C}  Rs. 781250 D)  Rs 7500.00

55. An organization has a car financing scheme in place for its employees, in close cooperation with a bank.
The organization will pay for the car but plans to earn 15% simple interest on the price only once at
the end of the next two years. The return plan consists of two equal yearly payments; one instantaneous
downpayment, and the other as installment st the end of the current year. This will be deposited in the
mﬁmionsbukmummdwmmm:mmofm%wwmpmdﬁmﬂb If the car
costs Rs. 600, 000.00, what is the periodic amount. payable by the employes? e

A) 290509.73 B) 345000.00 c) 300000.00 D) 290000.53.



56.

57.

5B.

An emperical observation about & normally distributed quantitative data-set is that 68% of it lies within
1 standard deviation of the mesn, If a data-set contains 200 numerical observations, what percentage of
them would be larger than the mean and the standard deviation added together?

A)  Approx. 34% B)  Approx 32%  C) &hApprox. 16% D)  Approx. 17%

A cell option is drawn on a particular security ¢ months from now, the buyer of
the call option will have the right (not the obli '
If at the end of three months (exercise date),
determine which expression symbolizes the

A)  max(§-K,0) B) max(K.
A particular share is half the price of a fore

0 golation

f the job ean be performed

; . Tre from the crossing and heading towards it at
100 mph, wh off a mph. Due to their lengths/speeds, Train A
requires 1 minut to'clear’off from the crossing completely upon approach.

A railway perso s to ask one of the train drivers to apply emergency brakes
immediately. Is co averted, and if so, which train should be told to apply
brakes? ;

A} Collision will not occul “continue.

B) Collision possible, & A should be asked to stop.

C) Collision possible, aversion po Train B should be asked to stop.

D)  Collision possible, aversion only possible, if both trains are asked to stop

. Azhar has set up a small photostat business. He purchased a used grayscale machine. The chance that

a paper will get stuck in the machine is one in ten. The chance that the machine will not eat paper, but

still render a bad copy is three in ten. What is the chance that & partioular photocopy will go well?

65.

A) i B) i C) o D) §

. A motorbike retailer wants to conduct & road test on his existing stack of motorbikes consisting of eight

Kawasaki, six Yamaha, and six BMW; all with identical engine power. If a motorbike passes the test,
it will not be placed back in the testing pool but will end up in the showroom. Tweo bikes are drawn at
random from this stock. What is the probability that the first bike selected will be a Kawasaki and the
second a Yamaha?

A) : B) i# C) % D) ol

A 5-letter word has to be made from a pool containing 9 distinet letters, A word here implies any

‘combination of letters appearing without repetition. This 5-letter word may be permuted in many

ways, If only 3500 of these words make literal sense, find the probability that a given permutation is
A) 0.77 B) 023 ©) 050 wwit.sheir.ofg*

. What is the area of the shaded region in the following figure?



"smmm (2) AmNEhmtsuﬂdmt
ent (1) ALONE is not sufficient.
t, but mm ALONE ln mEﬂ-

: ﬂﬁ Apenm&ﬂmmumndiua o aﬂhﬂumﬂ&ﬂnﬁwmﬁm*mwmim
mmlfthemat-ufthnpmdlhﬂu-'-ﬁ.ﬂﬂ. B : i1
A)  Rs.2000 B}  Rs.3000 ¢ Rss000 D) Rs. 4000

69, What is the volume bounded betwesn the cylinder and the rectangular cube? e

ot sl wwwshelrorg
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1) The dismeter of the cylinder is half the breadth of the cube, which is 5 cm.

2) The length of the cyclinder is twice the depth.

A) Statements (1) and (2) TOGETHER are nok(sufficient.
B) Statement (1) ALONE is sufficient, but 8
C) Stetement (2) ALONE is sufficient, bug§
D) EACH statemens ALONE is sufficiept.

70. What is the total area of the rec

1) The straight lines are parallel, and the triangle is isosceles.
2) mm@u lines are parallel, and the triangle is equilateral.

A) smmmmmmmmmﬂim o :
B) Statement (1) ALONE is sufficient, mwmmm::mm
C) mtz)mnsmuﬁw.hmsmmmmmm:ummm
D). EACH statement ALONE is sufficient. -

72, Thedimﬁthahrgure&deh?m. Mdralaml.ﬁﬁmhrgerthmthmnﬁum Finﬂm
ammmbumhyﬂiﬂmm
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vided that the eircle is half as tall as the triangle, and
_-I:hedrdgwhinhhﬂ&mm?

&) 30cm? B ' 3lgse®  ©)  10%5emd B} . 35500
75. What is the probability that 3 winning balls (red in color) will be blind selested in a draw game?
- 1) The draw bag contains 5 red, 4 blue, and 6 yellow balls.
: | www.sheir.org
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‘A)  Statement (1) ALONE is sufficient, but Statement (2) ALONE is R

~B) Statement (2) ALONE is sufficient, but 5
C) BOTH statements TOGETHER are NOT
e o) Bdbhstmmh TOGEI‘HERm sufficie

(1) ALONE is not sufficient.

the'tateler 40 MGAL (million gallons) an hour. At 15h30
the dam was capacity,'if the filling started at 13h00, when the dam was
) . ' C)  30MGAL D) 400 MGAL
* 81. The average of three pe: iare s 15 57.67. What are the numbers? '
1) Adding the numbers t :
2) The square roots of the numbers = .
A) Statement (1) ALONE is sufficient, but Statement (2) ALONE is not sufficient,
B) Statement (2) ALONE is sufficient; but Statement (1) ALONE is not sulicient,
C) BOTH statements TOGETHER are NOT sufficient. g :
. D) EACH statement ALONE is sufficient.
82. A battery menufacturer claims that the mean life length of its batteries is 5 years, and the standard
deviation is 10 months. If a particular battery chosen at random lasted only 37 months, what is the
- chance that the manufacturer’s claim is false, based on this evidence, as well as on the fact that battery
-~ lives are normally distributed? ; = ' S g P B
A) 25% B) 97.5% C) 4% D)- 5%
83, Two-thirds of ¢ is b; and two-thirds of b is ¢. Moreover, 2(¢® —1) = ¢ 1. What are the values of a, b,
’3.)313 =84, b=30e=1
B) a=1b=2%3c=4
C) a=2b=4%ac=8
D) g=4 b =821 0= 16/g] 4 1
RS - www.sheir.org
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84. Rs. mﬁﬂﬂﬂﬂisinvaat.a&jnasa.v!:nmbankwhkhaammtmﬁ&nhemteofaﬁwywmmmmded
quarterly. Tf all interest is left in the bank account what will the account balance be after 6 months?
A) Rs, 10200.00 B) Rs. 10404.00 C) 4 Rs. 10824.32 D) Rs. 10612.08

85. A heavy vehicle manufacturer’s sale was partic The company sold out a lot of
vehicles among which were 5000 trucks and 2000 ¢ inerease in the combined sale
of tractors and trucks sold this yeur compared tg :
tractors did the company sell this year? :

A) 5000 B) 2000 ; . 4000

86. A year is classified as e leap year witho 00 does not.
A particular year divisible both by 4 and 10079
classified as o leap year. Is Year A a leap year?

onths of the year, What is the average
e as hot in July and August as in the

18° D) 20°
89. : oy? — 22y + 2y — zy(e? +y?), provided that 2 +y =3,
@,y >0 and 2,y are .
A) -10 (5)] 8 D) 7
80. The asking fare for Ricksh s is on average Rs. 25.00 over the normal fare to cover up
.ﬁupaahrﬂdmwhowant.tu riously over the money. If you hire & taxi/Rickshaw for a ride

having & net worth of Rs. 80.00, what is the approximate chance that you would end up paying slightly
over Rs. 110.00 or slightly under Rs. 91,007 It is known that the fares are normally distributed and the
standard deviation for this distribution is Rs. 7.00. Take it for granted that for such distributions 95%
data is saturated within 2 standard deviations of the mean.

A) 3.5% ‘B 0% C) 5% D) 4.8%

01. mchmmdaﬂnmmﬂimtﬁuﬁmmddupmﬁtthaﬁntymﬁfﬂshuptmnmPMR% This
chance becomes better by 3 percent each of the next 10 years and then stays constant. What is the

chance that a particular bank is not making any profit at all, provided that the bank is 10 years old?
A) 47% B) 50% Q) 40% D) 53%

92. The average salary of professors at & certain university is Rs. 350000.00, while that of researchers is Rs.
200000.00. Each research group consists of a professor and some researchers. The groups are organized
as one professor to eight researchers. Halfofthagwupsalsohsveammpabhmmtm,wisha
mean salary of Rs. 100000.00. What is the overall average salary of these three categories of employees
provided that there are 15 secretaries? s
A)  21666667%  B) 210526.31 G) 250000.00 D) 225000.56

3. Prime numbers sre positive integers greater than 1, which cannot be broken down into mmltiplicative
facmothﬂrthmlmdthmahu Wha:isﬁhewlusofthapdmnumbq,q@vw sheir. org

(Go on To The Next Page)



A) Statement (1) ALONE is sufficientg{but Statement [
B) Statement (2) ALONE is sufficiefit, but S

©) BOTH statements TOGETHER are NOT st

D) EACH statement ALONE is sufficien

84, A particular lump sum is invested at 20% p

(Stop. Do not turn over this page- until you are told to do so)
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No. of Questions: 45 (From 96 to 140) Time allowed: 45 Minutes

Questions on Pzage Nos: 19 To 24 Negative markings: Yes

Q96 When an increase in the price of a good le he quantity demanded for

another good, the two goods are

A) inferior,

B) normal.

C) complements.
D) substitutes.

Q97 The government wishes 1o increase
allowing foreign service- '
and the market for mobil

Q100 When demand s
and total revenue to

A) increase; fall
B) decrease; rise
C) decrease; fall

Q101 Moving along a demand curve, quantity demanded decreases & percent when price
increases 10 percent. The price elasticity of demand is:

A)—0.8
B)-125

C)y-8.0
D) -12.5

Q102 The demand for product tends to be relatively price inelastic if
A) fewer substitute goods for the product are available.

B) fewer complementary goods for the product are available,
C) people spend a larger share of their income on the product.
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Q103 A firm producing toys has estimated the

lasticity of demand for the firm’s toys as
ercent (ceteris paribus: holding all else

Ep=—2. If the firm decreases the price of toy
constant), the total revenue of the firm will:

A) increase
B) decrease
C) remain the same

Q104 Which of the following statements i correct’
A) Salt is more price-elastic than vegetables

B) Ice cream is more price-elastic than penicill
C) Ice cream is more price-elastic. tha choco

iere v is the quantity of output
atements is true at all levels of

Q108 The supply curve of itive firm in the short run is its marginal cost curve
A) above average total cost
B)above average fixed cost
C) above average variable cost
D) when marginal cost is rising

Q109 Average cost is minimum when the marginal cost is
A) less than

B) greater than
C) equal to

the average cost.

Q110 A firm has a fixed production cost of Rs.5000 and a constant murginal cost of production
of Rs.500 per unit produced. What is the firm’s total cost function?

A) TC = 5000 +250 7
B) TC = 5000 + 500 y
€) TC = 5000 + 250 y

L]
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Q111 Rising jet fuel prices recently led most maj to raise famsby 20 percent. This
substantial increase in airfares would affect the tels assuming celeris paribus. The
demand curve for hotels would:

A) Shift to the right, resulting in equilibri
B) Shift to the right, resulting in equil
C) Shu‘ttoﬁmlcft, m-'ultmgmequﬂ

Q112 An academic institution desired to in
students ofBachclar'sdegmmbyRsSﬂOUpw
greater revenues. Bul in rea o

_ cti By TC =81 + 7, where y is the quantity of output and TC
is the total cost of productio at is the output level thal minimizes the average cost of

production?

A)52
B)9

C) 27
D) 81

Q117 A firm suffering losses in the short run will continue to operate as long as the total revenue
at least covers the

A) average fixed cost (AFC)

B) average variable cost (AVC)
C) fixed cost (FC)

D) variable cost (VC)

www.sheir.org
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Q118 The investment function slopes because there are investment projects
that are profitable as the interest rate decreases. ]

A) upward; fewer
B) upward; more
C) downward; fewer
D) downward; more

Q119 An increase in the price of imported goods

A) CPI

B) GDP deflator
C) both CPI & GDP deflz
D) neither CPI nor GDP ¢

Q122 The present valug of ed after of 1 year, given a 5% interest
(discount) rate, is

A)Rs, 95.00
B) Rs. 95.24
C) Rs. 105.00
D) Rs. 90.70

Q123 Immediately after a trough, we would expect to have a/an

A) peak

B) recession

C) recovery

D) another trough

Q124 If the nominal interest rate is 5% and the inflation rate is 2%, the real interest rate is:

A)2%

B) 3%

C) 5% .

D) 7% www.sheir.org



Q125 Disposable Income is equal to:

A) National Income

B) Real GDP

C) National Income Minus Taxes
D) National [ncome Minus Taxes Plus Transfers

Q126 “Crowding out” means that

A) a government bud,ge't deficit lom interest s

Q130 If the monetary base
by how much will the mo

5. 1,000 and the reserve requirement is 10% (1/10),

A) Rs.100
B) Rs.1,000
C) Rs.5,000
D) Rs.10,000

Q131 An increase in the money supply will cause interest rates to
A) rise

B) fall

C) remain unchanged

Q132 When a firm sells a produet out of inventory, GDP:

A) increases.
B) decreases.
C) may increase or decrease.
D) is not changed.
www.sheir.org



Q133 Assume that a firm buys all the parts that it pats an automobile for $10,000. It pays its

workers $10,000 to fabricate the automobile. It sells the auitomobile for $22,000, In this case, the
value added by the automobile company is:

A) $2,000 B) $10,000
Q134 Consider a small economy wheré
is 8,000, while the number afpmpie el
economy?
A) 10 percent B) 12.5 percent

Q135 GNP equals GDP,
nationals eam abroad)

Q139 Suppose, in the yea
‘GDP growth was 4%. What v

A,) 4p=xcm£

GBI afonfurﬂnscounu'}r"

Q140 The usual pattern of a business cycle is

A) peak, trough, recovery, recession
B) peak, recovery, trough, recession
C) recession, peak, recovery, trough
D) recession, trough, recovery, peak

‘hanks for ing the inte in MS (Economi Q?i'
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